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£20,000 at 12%  produces more 



  



  



  



  

𝟐𝟎𝟎. 𝟓  cm 𝟐𝟎𝟏. 𝟓  cm 

𝟏𝟕 

𝟐𝟖. 𝟓   cm/s 



  



  



  



  

𝟐𝟏𝟖 

35, 𝒏𝟐 − 𝟏,  899 

110, 𝟑𝒏𝟐 + 𝟐,  2702 

 

38, 𝒏𝟐 + 𝟐,  902 

68, 𝟐𝒏𝟐 − 𝟒,  1796 

 

75, 𝟐𝒏𝟐 + 𝟑,  1803 107, 𝟑𝒏𝟐 − 𝟏,  2699 

 



  



  



  



  



  



  

𝟓

𝟐
 , −

𝟓

𝟒
 ,  
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𝟏𝟖. 𝟖 cm2 
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32                 110 94.5                

116 64.8 

177 

 

188 

b 

106 s 



 

 

  

𝟒𝟖𝝅 

£409.50 



  

 5𝑥2 1.75 hours 
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(𝟒, −𝟐) 



 

 

 

  



 

 

 

  

a b − a  

 

𝟏
𝟏

𝟐
 b 

𝟐a  

𝟏

𝟐
 a 

a  

b− a  

b − a  

b − a  

 

i     𝟐 a − b  
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𝟏𝟎(√𝟕 + 𝟐)
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 𝑥 = 4, 𝑥 = −2 
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𝟏, −𝟓, (−𝟐, −𝟗) 

−𝟑 ≤ 𝒙 ≤ 𝟒,  𝒙 = [−𝟑, 𝟒]  

 −𝟓 < 𝒙 < 𝟒,  𝒙 = (−𝟓, 𝟒)  
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𝒚 = 𝐜𝐨𝐬 (𝒙 + 𝟗𝟎°) 

8a   

 

 

 

 

 

 

8b 

𝒚 = 𝐬𝐢𝐧 (𝒙 − 𝟗𝟎°) 

𝒚 = 𝐭𝐚𝐧 (𝒙 − 𝟗𝟎°) 



  

4    a     expand 𝒙𝟐 + 𝟐𝒙𝒚 + 𝒚𝟐 = 𝟐𝟕 + 𝟐𝒙𝒚 

                                         𝒙𝟐 + 𝒚𝟐 = 𝟐𝟕  

             so radius = √𝟐𝟕 = 𝟑√𝟑 

      b     expand to get 𝒙𝟐 + 𝒚𝟐 = 𝟓                 

             so radius = √𝟓 

6    a                      y           𝒙 = 𝟒             
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(Corrected histogram) 
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2 

1 a)   3, 4 

b)   3, 4, 5, 6, 7, 8, 9 

c)   1, 2, 3, 4, 5, 6, 7, 8, 9 

d)   3 

e)   1, 2, 3, 4, 5, 6, 8 

f)   3, 4, 8 

,  𝟔 ∈ 𝑵 
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    ERRORS IN TEXT 

      

Page Exercise  Question Should be Not 

25 Ex 18 24 
543 + 472

18.1 + 10.9
 

543 × 472

18.1 + 10.9
 

  25 
112.2 + 75.9

6.9 + 5.1
 

112.2 × 75.9

6.9 + 5.1
 

89 Test yourself 6 0. 3̇4̇ 0.34 

131 26 6 for  −2 ≤ 𝑥 ≤ 4 for  22 ≤ 𝑥 ≤ 4 

  12 for  −1 ≤ 𝑥 ≤ 4 for  21 ≤ 𝑥 ≤ 4 

130 Ex 25 2f 1 + √3 + 3 + 3√3 + ⋯ 1 + √3 + 3√3 + 9 + ⋯ 

352 Ex 23 6 

  

395 Ex 17  1i 4𝑥 − 𝑥2 − 3 < 0 4𝑥 − 𝑥2 − 1 < 0 
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